Math 201-203-RE

Practice Assignment 1

Answers
(1) 2sinz+2Injz| — 2z +2e?+C;(2) 2 o1/1230,7/6 4 2,1/8 4L 0 (3) £27/6— L2834+ L tana +C
(4)8x2—%x9/2+%x7+0;(5)60\/§+25x+91n|m|+0;(6) —m%/s—l—%ew—i—%x?’—i—%cotx—i—C

(7) 2910 4 F g11/6 _ 859/2 4 €5 (8) 2a™/2 4 25 +C;(9) 1284324 1B 13/4 4. 1254 C

(10) =7 V342340 (11) =254+ C;(12)  In(4+€3) + C; (13) 4 In(2z? +4) + C; (14) & (322 4+ 62)3/2 + C

e’
(15) ﬁjuo;(m) m+O (17) =3 cot(z® +1) +C; (18) L In|5 — 6z + 22| + C'; (19) 3 (3 +Inx)*3 +C
(20) —1 (2 —sinz)®+ C; (21) 3 In|1+ 2 tanz|+ C; (22) 2 (2% +82)3/* + C; (23) 2(2* +1)*2 + C

(24) Ve2 + 22+ C ; (25) 5 (2+3Ina)f+C;(26) 3 n|t> +2t+ 3|+ C; (27) f(z) =2 +22° + 5o — 7

(28) f(x) = 22" — 32% + 192 — 14 ; (29) f(x) = 162°/2 — 823 + 92 — 6 ; (30) f(x) = —2 sinx + 2% + Tz + 3

(31) 3¢> — 5 Infz[+ C; (32) =2 +24 In|z| + 162+ C ; (33) 227/3 - 2 11/6 4 924/3 4 ©

(34) 26 —6Infz|+ S 2t + 3 sin22+ C; (35) —2e “+6Injz| — 2+ C;(36) 2> + £a™/2 —12/z 4+ C

(37) =% +€* + 3 —2cot2z+C; (38) 22° +122% + 8la + C; (39) Ja2 + L a2+ 18234+ C
(40) 22% — 827/3 4+ 22103 1 05 (41) -8 ~ —21.33; (42) &L ~ 43.5; (43) -2 = —1.95; (44) -2 = -3.75
(45) 2¢* — 2~ 12.778 ; (46) ' ~ 24.667 ; (47) 13 square units ; (48) 20 square units ; (49) C' = 2 22 — In|z| — 153.50
=Injz|+2°+745; & ~ 9.33 square units ; 3 = 2.9 square units ; == = 6.75 square units

50) C =1 247455 (51) 2 ~9.33 its ; (52) 2 = 2.5 its ; (53) 2 = 6.75 i
(54) 87 = 8.7 square units ; (55) 22 ~ 4.83 square units ; (56) — 214 ~ —5985.69 ; (57) 22 — /3 &~ 1.09637
58) 1 (e7! —1) ~ —0.316; (59) 48 ~ 9.2 (60) L In(14) ~ 0.8797 ; (61) 2 ~ 1.125; (62) £ ~ 2.3 square units

2 5 3 8 3

= ~ 11.33 square units ; D = ; = ; 3 = 2.9 square units
63) 3! ~11.33 its ; (64) p(90) = 2613 ; (65) P(100) = 11950 ; (66) 5 = 2.5 i
67) 16 square units ; (68 g ~ 3.083 square units ; (69) 37 = 9.25 square units ; (70) 2 ~ 0.67 square unit

4 3

(71) fx) =a®+a? +a+4;(T2) y=42° — 62 +5; (T3) y =t —2Vt+1;(74) y=3Infz| -z — 2 +3
(75) f(z) = —22* + 323 + 132 — 3 ; (76) f(z) = —22° + T2® + 2 — 11; (77) y = 242 — 22° — 6
(78) y=t—12Vt—12; (79) y=5In|z|+ 3z — % +2; (80) f(z) =z — 23 + 15z + 18
(81) f(z) =4a® —2e* —Hcosz+11;(82) 2 a® + 22t + 2+ 32+ S0+ 3 Infz[ + C

(83) =227 1/2 — 23 — L cos(4a) +C; (84) k==+3;(85) k=—6and k=1



2337

) +2e72* + 2 Inf3z + 1| — 2 tan(3z) + C'; (87) 2% — 3z + 5 In|dz — 3|+ C

(86) 5

(88) 2% +21In(z?+ 1)+ C; (89) £ = 3.5 square units ; (90) 2; (91) & sin(2z) — 222 — Lo+ Inz|+C
(92) f(z) =2€3 +2 cos(2z) — 15 (93) 15; (94) 6 square units ; (95) C = 0.1z% + 3z + 100 + 1820
(96) p = 322 + 0.05z + 500 + 222 ; (97) C = 42 + 10€>* + 990 ; (98) $580 per unit

(99) § =1.33;(100) 5 (1 —e™!) =~ 0.32



